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Date nextMonth();

Bool isLeapYear(); // & 50| H true B2t
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Class Date {
int year;
int month;
int day;
Public:
Date();
Date(int y, int m. int d);
bool isLeapYear(int y);
void print() const;
Date nexdtMonth();
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Class SMS
{

string sender;

string receiver;

string text;
Public:

SMS() {

sender = “”;

receiver = “7;

teXt = “”
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double marks;
Public:
Student(string n, double m) : name{n}, marks{m} { }



Ct=1F 20| A=t E LIEtL] = Contact S22 E 2Tt Contact 222 = O| S (name)2t ™3t

H2(tel)S 7HX| 2 ULt 3702| Contact HH| S M Yot= 8 HIES ot MEAZFEH A
E

'OtA SH HIE CHOll M StCt O|OfAM AFEXAZRH O|§S BOMM 5 B0 &

¢l
[
|I'I1
1
+

AW N DOW SHsystem 3 2Womd . exe

D= EEHStAlE2 0 EE =

HEHE== 2 SHAl= © 010-1111-2222
D= EFEStAlE2 0 HE

HEHE== 2I2SHAl= @ 010-1111-3333

Ol SE EF5StAl = ¢ E=[AFSE

HEfHE== 2 2ASLAI= @ 010-1111-F777
SHst) W= 0| d35StA2 0 EE =
HEIHZ= © 0lo-1111-2222

Hl=stadEH ot ZILE ==& A =2 -

Class Contact {
Private:
string name;
string tel;
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